PHL 351 EXAM MODELS

EXAM MODEL-I:

Choose the correct answer(s):

1 i. A 7-year old boy has a significant bed-wetting problem. A long-acting indirect sympathomimetic agent sometimes used by oral route for this and other indication s:

A. Dobutamine.

B. Ephedrine.

C. Epinephrine.

D. Phenylephrine.

Key answer: (B) 

2. All of the following agents are considered enzyme inducers EXCEPT:

A. Carbamazepine.

B. Grape fruit.

C. Brussels sprouts.

D. Phenytoin.

Key answer: (B)

3. The term that describes what a drug does to body and particularly its mechanism of action is called:

A. Pharmacodynamics.

B. Pharmacokinetics.

C. Efficacy.

D. None of the above.
Key answer: (A)

EXAM MODEL-II

Choose the correct answer(s):
1. Insulin can cross the cell membrane by:

A. Direct diffusion through lipid.

B. Carrier-mediated transport.

      C. Diffusion through channels.

      D. Pinocytosis.

Key answer: (D)

2. Which one of the following statements concerning the parasympathetic nervous system is correct?

      A. The parasympathetic system uses noradrenaline as a neurotransmitter.

      B. The parasympathetic system emerges from the cranial and sacral nerves.

      C. Parasympathetic activity increases in stress (fight- or flight-response).

      D. Parasympathetic ganglia lie close to or within the target organ.

Key answer: (B) & (D)

3. When added to an intestinal smooth muscle in a tissue bath, two different drugs (drug A and drug B) both A and B cause relaxation of the muscle but with different EC50 values (EC50 for A and B were 15(M and 50(M, respectively) and Emax for A and B were 100% and 70%, respectively. Based on these parameters, which of following statements are true?

     A. Drug A and drug B had similar potencies in causing relaxation of muscle.

     B. Drug A was more potent than drug B in causing relaxation of muscle.

     C. Drug A was less potent than drug B in causing relaxation of muscle.

     D. Drug B produced less efficacy than drug A.

Key answer: (B) & (D)

EXAM MODEL-III

Indicate the main target for the following drugs:

	Drugs
	Target for drug action

	Neostigmine

Digoxin

Sulphonylureas


	


Key answers:

Neostigmine: Enzyme (acetylcholinesterase).

Digoxin: Carrier protein (Na+/K+ ATPase).

Sulphonylureas: Ion channel (ATP-sensitive potassium channels).

Indicate whether the following statements are true (T) or false (F) then correct the false ones:

1. Metoclopramide, a prokinetic drug, will attenuate the gastric emptying and hence reduce the rate of absorption of other drugs (         ).

Key answer: (F)

Correction: Metoclopramide, a prokinetic drug, will enhance the gastric emptying and hence increase the rate of absorption of other drugs.

2.  Antagonist has affinity but it has no efficacy (         ).

Key answer: (T)

3. Sympathetic innervations of sweat gland mediated transmission through the release of acetylcholine acting on muscarinic acetylcholine receptors (         ).

Key answer: (T)

PHL 451 EXAM MODELS

EXAM MODEL-I:

Choose the correct answer(s):

1. Which of the following neuroleptic drugs block 5-HT2A to greater extent than blocking of D2 dopamine receptors:
A. Risperidone.

B. Aripiprazole.

C. Clozapine.

D. Fluphenazine.

Key answer: (B)

2. All of the following mechanisms contribute to mood-stabilization mediated by Lithium except:

A. Inhibition of voltage-gated sodium channels.

B. Interfere with phosphatidylinositol cascade in the brain.

C. Tends to substitute sodium ion and accumulate inside excitable cells.

D. Decrease noradrenaline and dopamine turnover.

Key answer: (A)

Indicate whether the following statement is True (T) or False (F) then correct the false statement:

Tardive dyskinesia develops after short-term treatment with classical antipsychotic agents and often reversible (         ).

Key answer: (F)

Correction: The term (tardive) means happening late, therefore tardive dyskinesia develops after months or years of treatment with classical antipsychotic drugs and often irreversible.

 EXAM MODEL-II:
1. Which of the following drugs reduce the activity of Phospholipase A2?

A. Aspirin.

B. Ibuprofen.

C. Misoprostol.

D. Hydrocortisone.

Key answer: (D)

2. A young patient who has been treated with an antipsychotic drug for a few weeks becomes easily fatigued and experienced hyperthermia. Laboratory results indicate that patient is suffering from drug-induced agranulocytosis, he is most likely treated with:

A. Chlorpromazine.

B. Haloperidol.

C. Clozapine.

D. Olanzapine.

Key answer: (C)

3. Which of the following drugs could cause pulmonary fibrosis? 
A. Chloroquine.

B. Penicillamine.

C. Methotrexate.

D. Auranofin.

Key answer: (C)

Indicate whether the following statement is True (T) or False (F) then correct the false statement:

All opioid analgesics mediated bradycardia (         ).

Key answer: (F)

Correction: Most of opioid analgesics with exception meperidine (pethidine), which mediates tachycardia due its antimuscarinic effect. 

